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QUESTION 1

ESXi 6.5 introduces VMFS6, which supports both 512e and 512n devices. What three configurations are supported
when using these devices? (Choose three.)

A. Hosts with both 512e and 512n devices.

B. Storage vMotion between both 512e and 512n devices.

C. Datastore Extents spanned between both 512e and 512n devices.
D. Storage DRS clusters containing only both 512e and 512n devices.
Correct Answer: ABD

VMFS can host both 512e and 512n devices. It also supports storage vMotion between 512e and 512n devices. In
addition to that DRS clusters can contain both 512e and 512n devices at the same time.

QUESTION 2

In order to use vCenter Converter Standalone to convert a Windows 8 physical machine to a virtual machine, which
statement is true?

A. Volume layout can be reorganized on the destination virtual machine as long as the physical machine is powered off.

B. The physical machine cannot be converted because vCenter Converter Standalone does not support Windows 8
machines.

C. Volumes can be resized on the destination virtual machine as long as the physical machine is powered on.
D. The destination virtual machine can be created as a linked clone.

Correct Answer: C

QUESTION 3

Which three object types can be stored in the Content Library? (Choose three.)
A. vDS backups

B. VM templates

C. VAPP templates

D. ISO files

Correct Answer: BCD

QUESTION 4
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What is the correct way to replace the certificate on an existing vCenter Server that is part of a vCenter HA
configuration?

A. Put the vCenter HA in Maintenance mode, replace the certificate, exit Maintenance mode.
B. Shut down Passive and Witness nodes and replace the certificate on the Active node.

C. Remove the Passive and Witness nodes, replace the certificate, reconfigure the cluster.
D. Replace the certificate while all nodes are participating in the cluster.

Correct Answer: C

QUESTION 5

What is the default pathing policy for most active-active arrays?
A. Most Recently Used

B. Dynamic Disk Mirroring

C. Fixed

D. RoundRobin

Correct Answer: C

https://pubs.vmware.com/vsphere-50/index.jsp?topic=%2Fcom.vmware.vsphere.storage.doc_50%
2FGUID-37F97D1C-4E4F-460B-ACF9- 04D1347959CC.html
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